
  

 

 

 

 

U.G. DEGREE EXAMINATION —  
DECEMBER 2023 

Business Administration 

First Year 

PRINCIPLES OF MANAGEMENT 
Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 
Answer any THREE questions. 

1. Explain the principles of Organizing. 
 {ÖÁÚzvß öPõÒøPPøÍ ÂÍUSP. 

2. List out the benefits of training. 
 £°Ø]°ß |ßø©PøÍ Á›ø\¨£kzxP. 

3. State the nature and scope of planning. 
 vmhªku¼ß ußø© ©ØÖ® ÷|õUP® 

BQ¯ÁØøÓU TÖP. 

4. What is meant by Scientific management? Explain 
its objectives. 

 AÔÂ¯À / ÂgbõÚ ÷©»õsø© GßÓõÀ GßÚ? 
Auß ÷|õUP[PøÍ ÂÍUSP. 

 UG–C–2185 BBA–11X/ 
  BBAR–11X/
  BBAM–11X/
      BCS–11X/

BBAC–11X
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5. Explain the needs for coordination. 

 J¸[Qøn¨¦ ÷uøÁ – ÂÍUPÄ®. 

PART B —  (3 × 7 = 21 marks) 

Answer any THREE questions. 

6. Explain the different types of plans in detail. 

 £À÷ÁÖ ÁøP¯õÚ vmh[PøÍ Â›ÁõP ÂÍUSP. 

7. What are the features of Organising. 

 {ÖÁÚ® / Aø©¨¤ß A®\[PÒ ¯õøÁ? 

8. Explain the Henry Fayol’s theory of Modern 

Management. 

 öíßÔ £÷¯õ¼ß |ÃÚ ÷©»õsø©U ÷Põm£õk – 

ÂÍUSP. 

9. Explain the selection process in detail. 

 ÷uºÄ ö\¯À •øÓø¯ Â›ÁõP ÂÍUSP. 

10. Discuss any two functions of management in 

detail. 

 ÷©»õsø©°ß H÷uÝ® Cμsk ö\¯À£õkPøÍ 

Â›ÁõP ÂÁõvUP. 
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PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions. 

11. Explain the various levels of Management. 

 ÷©»õsø©°ß £À÷ÁÖ {ø»PøÍ ÂÍUSP. 

12. Explain the features of importance and 
Controlling. 

 Pmk¨£kzxu¼ß ußø©PÒ ©ØÖ® •UQ¯zxÁ® 
£ØÔ ÂÍUSP.  

13. What is Training? and explain the various 
methods of Training. 

 £°Ø] GßÓõÀ GßÚ? ÷©¾® Auß £À÷ÁÖ 
•øÓPøÍ GÊxP.  

14. Briefly explain the process of Communication. 

 uPÁÀ öuõhº¤ß ö\¯À•øÓ £ØÔ _¸UP©õP 
GÊxP.  

15. State the importance of departmentation? 

 xøÓ¨£kzxu¼ß •UQ¯zxÁzvøÚ GkzxøμUP. 

16. What are the factors affecting Span of 
Management? 

 ÷©»õsø© £μ¨£ÍøÁ £õvUS® PõμoPÒ 
¯õøÁ? 

17. Explain the advantages and disadvantages of 
Centralisation. 

 ø©¯¨£kzu¼ß |ßø©PÒ ©ØÖ® wø©PÒ £ØÔ 
ÂÍUSP. 

——––––––––– 



  

 

 

U.G. DEGREE EXAMINATION —  
DECEMBER 2023. 

Business Administration / Accounting and Finance 

First Year 

BUSINESS ORGANISATION 

Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions in 
100 words. 

All questions carry equal marks. 

1. Explain the meaning of profession. 

 öuõÈÀ Gß£uß ö£õ¸øÍ ÂÍUSP. 

2. What do you understand by Memorandum of 
Association? 

 Aø©¨¦ •øÓ÷¯k £ØÔ }[PÒ AÔÁx GßÚ? 

3. Define industrial estates. 

 öuõÈÀ ÷£møhPÒ £ØÔ Áøμ¯ÖUP. 

 UG-C-2186 BBA–12X/ 
  BAF–12X
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4. What do you mean by stock exchanges? 
 £[S \¢øuPÒ £ØÔ }[PÒ AÔÁx GßÚ? 

5. What are business combinations? 
 ÁoPUP»øÁPÒ GßÓõÀ GßÚ? 

PART B —  (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words. 

All questions carry equal marks. 

6. What are the main objectives of business? 

 ÁoPzvß •UQ¯ ÷|õUP[PÒ ¯õøÁ? 

7. What are the characteristics of a joint Hindu 
family firm? 

 J¸ C¢x Tmk Sk®£ {ÖÁÚzvß £s¦PÒ 
¯õøÁ? 

8. Explain the functions of District Industry Centres. 
 ©õÁmh öuõÈÀ ø©¯[PÎß ö\¯À£õkPøÍ 

ÂÍUSP. 

9. Explain the powers of SEBI. 

 SEBI ß AvPõμ[PøÍ ÂÍUSP. 

10. Discuss any two types of insurance. 
 Põ¨¥miß H÷uÝ® Cμsk ÁøPPøÍ ÂÁõvUP. 
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PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 

500 words. 

All questions carry equal marks. 

11. Explain the importance of business organisation. 

 ÁoP Aø©¨¤ß •UQ¯zxÁzøu ÂÍUSP. 

12. Explain the contents of a joint stock company. 

 J¸ Tmk £[S {ÖÁÚzvß EÒÍhUP[PøÍ 

ÂÍUSP. 

13. Explain the factors that influence the selection of 

plant location. 

 Bø» Chzøu ÷uºÄ ö\´Áøu {ºn°US® 
PõμoPøÍ ÂÍUSP. 

14. Explain the functions of OCTEI. 

 OCTEI Cß ö\¯À£õkPøÍ ÂÍUSP. 

15. Describe the various types of business 

combinations. 

 ÁoPU P»øÁPÎß £À÷ÁÖ ÁøPPøÍ ÂÁ›UP. 
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16. Explain the principles of insurance. 

 Põ¨¥miß öPõÒøPPøÍ ÂÍUSP. 

17. What is meant by Articles of Association? How far 
do the Articles differ from the Memorandum of 
Association? 

 \[P |øh•øÓ ÂvPÒ GßÓõÀ GßÚ? \[P 
|øh•øÓ ÂvPÎÀ C¸¢x Aø©¨¦ •øÓ÷¯k 
GÆÁÍÄ ÷ÁÖ£kQßÓx? 

——––––––––– 



  

 

 

U.G. DEGREE EXAMINATION —  
DECEMBER 2023 

Business Administration/Retail Management 

First Year 

FINANCIAL AND MANAGEMENT ACCOUNTING 

Time : 3 hours Maximum marks : 70 

SECTION A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions in 

100 words. 

1. What is double entry system of book-keeping? 

 Cμmøh £vÄ•øÓ PnU÷PkPÒ £μõ©›¨¦ 
GßÓõÀ GßÚ? 

2. Define Trial Balance. 

 C¸¨£õ´Ä – Áøμ¯Ö. 

3. What are Liquidity Ratio? Explain with example. 

 }ºø© ÂQu[PÒ ¯õøÁ?  GkzxUPõmkhß 
ÂÍUSP. 

 UG–C–2187 BBA–13X/
  BBAR–13X
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4. Write a short note on Cash Flow from investment 
activities. 

 •u½kPÎ¼¸¢x öμõUP |h©õmh® £ØÔ 
]ÖSÔ¨¦ ÁøμP. 

5. What is meant by Key Factor? 

 Key factor Gß£uß ö£õ¸Ò ¯õx? 

SECTION B — (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words. 

6. What are the objectives of Accounting? 

 PnUQ¯¼ß SÔU÷PõÒPÒ ¯õx? 

7. Prepare the Profit and Loss a/c for the following 
particulars. 

 Rs. 

Gross Profit  68,000 

Rent received 12,000 

Interest received  4,000 

Stationery and Printing 13,000 

Discount paid 6,000 

Manager salary 25,000 

Wages paid 5,000 
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 RÌPsh Â£μ[PøÍU öPõsk C»õ£ |mh 

PnUQøÚz u¯õ›UPÄ®.  

 ¹.

ö©õzu C»õ£®  68,000 

ÁõhøP ö£ØÓx 12,000 

Ámi ö£ØÓx  4,000 

Aa_ GÊxö£õ¸Ò 13,000 

uÒÐ£i AÎzux 6,000 

÷©»õÍº Fv¯® 25,000 

T¼ ö\¾zv¯x 5,000 

8. From the following information, Calculate  

(a) Current Assets (b) Current Liabilities and  

(c) Liquid assets 

 Current ratio 2.8: Liquid ratio 1.5: Working 

capital Rs. 1,62,000 

 RÌPsh ÂÁμ[PÎ¼¸¢x (A) |h¨¦ ö\õzxUPÒ  

(B) |h¨¦ ö£õÖ¨¦PÒ (C) }ºø©a ö\õzx 

÷£õßÓÁØøÓ PnUQkP.  

 |h¨¦ ÂQu® 2.8 }ºø© ÂQu® 1.5 |øh•øÓ 

•uÀ ¹. 1,62,000 
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9. From the following data, calculate the cash from 
operations. 

 Funds from operations for the year 2018  
Rs. 84,000. Current Assets and liabilities as on 
1.1.2018 and 31.12.2018 were as follows: 
 1.1.2018 31.12.2018
 Rs. Rs.
Trade Creditors 1,82,000 1,94,000
Trade Debtors 2,75,000 3,15,000
Bills receivable 40,000 35,000
Bills payable 27,000 31,000
Inventories 1,85,000 1,70,000
Trade investments 40,000 70,000
Outstanding expenses 20,000 25,000
Prepaid expenses 5,000 8,000

¤ßÁ¸® Â£μ[PÎ¼¸¢x C¯UPzv¼¸¢x 
öμõUP® PnUQkP.  2018 ® BskUPõÚ C¯UP 
{v ¹. 84,000 1.1.2018 ©ØÖ® 31.12.2018 ® 
|õøÍ¯ |h¨¦a ö\õzx ©ØÖ® |h¨¨ ö£õÖ¨¦PÒ 
¤ßÁ¸©õÖ 

 1.1.2018 31.12.2018

 ¹. ¹.

ÁoP PhÜ¢÷uõº 1,82,000 1,94,000

ÁoP PhÚõÎPÒ 2,75,000 3,15,000

ö£ÖuØS›¯ ©õØÖa^mk 40,000 35,000

ö\¾zxuØS›¯ ©õØÖ^mk 27,000 31,000

\μUQ¸¨¦ 1,85,000 1,70,000
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 1.1.2018 31.12.2018

•u½kPÒ 40,000 70,000

öPõk£h ÷Ási¯ ö\»ÄPÒ 20,000 25,000

•ßTmi ö\¾zv¯ ö\»ÄPÒ 5,000 8,000

10. Murugan company manufactures 21,200 units of 
“A” and 27,400 units of “B”. Prepare the 
production cost budget for 6 months from the 
following data. 

Particulars Product “A” Product “B”

Direct Materials per unit Rs. 6 Rs. 10

Direct wage per unit Rs. 3 Rs. 4

Factory overhead Rs. 42,400 Rs. 54,800

 •¸Pß {Ö©® “A” GßÓ ö£õ¸ÎøÚ 21,200 
A»SPÒ ©ØÖ® “B” GßÓ ö£õ¸ÎøÚ 27,400 
A»SPÒ EØ£zv ö\´QßÓx. ¤ßÁ¸® 
Â£μ[PÎ¼¸¢x 6 ©õuzvØPõÚ EØ£zv ÁμÄ – 
ö\»Ä vmhzvøÚz u¯õ›UP.  

Â£μ[PÒ ö£õ¸Ò 
“A”

ö£õ¸Ò 
“B”

÷|μi ‰»¨ö£õ¸Ò (Kº 
A»QØS) 

¹. 6 ¹. 10

÷|μi T¼ (Kº A»QØS) ¹. 3 ¹. 4

Bø» ÷©À{ø»a ö\»ÄPÒ ¹. 42,400 ¹. 54,800
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SECTION C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words. 

11. Prepare the Journal and Ledger for the following 
particulars: 

2018 March  Rs.
1 Start business with cash 80,000
2 Machinery purchased 27,000
3 Amount deposited at bank 13,000
4 Commission paid 700
5 Goods purchased 16,000
6 Goods sold 26,000
7 Wages paid 4,000

22 Rent paid 5,000
24 Carriage inwards 600
26 Commission paid 600

 ¤ßÁ¸® Â£μ[PÎ¼¸¢x SÔ¨÷£k ©ØÖ® E›¯ 
÷£÷μkPøÍ u¯õ›UPÄ®.  

2018 
©õºa 

 ¹.

1 öμõUP® ¹. 80,000 Ehß öuõÈÀ 
xÁ[P¨£mhx 

2 C¯¢vμ® öPõÒ•uÀ ö\´ux 27,000

3 Á[Q°À øÁ¨¦ ö\´ux 13,000

4 PÈÄ öPõkzux 700

5 \μUS öPõÒ•uÀ 16,000

6 \μUS ÂØ£øÚ 26,000
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2018 
©õºa 

 ¹.

7 T¼ ö\¾zv¯x 4,000

22 ÁõhøP ö\¾zv¯x 5,000

24 FÒyUSU T¼ 600

26 PÈÄ ö\¾zv¯x 600

12. From the under mentioned balances, prepare a 
Trial Balance as on 31.3.2018. 

 Rs. 

Cash in hand 4,000 

Purchases 4,80,000 

Opening stock 1,40,000 

Sundry Creditors 96,000 

Machinery 2,40,000 

Wages 64,000 

Sales 8,04,000 

Furniture 60,000 

Bills Receivable 80,000 

Salaries 80,000 

Capital 4,00,000 

Bills payable 88,000 

Sundry debtors 2,00,000 

Rent 40,000 
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 RÌPõq® C¸¨¦PÎ¼¸¢x 31.3.2018 ® |õøÍ¯ 
C¸¨£õ´ÂøÚ u¯õ›UP.  

 ¹.

øP°¸¨¦ öμõUP® 4,000 
öPõÒ•uÀ 4,80,000 
öuõhUP \μUQ¸¨¦ 1,40,000 
£Ø£» PhÜ¢÷uõº 96,000 
G¢vμ® 2,40,000 
T¼ 64,000 
ÂØ£øÚ 8,04,000 
©øÚ¯o¯[PÒ 60,000 
ö£ÖuØS›¯ ©õØÖa^mk 80,000 
\®£Í® 80,000 
•uÀ 4,00,000 
ö\¾zxuØS›¯ ©õØÖa^mk 88,000 
£Ø£» PhÚõÎPÒ 2,00,000 
ÁõhøP 40,000 

13. From the following information, prepare a 
summarised Balance Sheet of XYZ Co. Ltd for the 
year ended 31.12.2018. 

  Rs.
(a) Working Capital 60,000
(b) Reserves and Surplus 40,000
(c) Bank overdraft 10,000
(d) Fixed Assets/Proprietary ratio 0.75
(e) Current Ratio 2.50
(f) Liquid Ratio 1.50
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 ¤ßÁ¸® Â£μ[PÎ¼¸¢x, XYZ & ÷PõÂß 
31.12.2018 ® |õÐhß •iÄÖ® _¸UP©õÚ 
C¸¨¦{ø»U SÔ¨¦ u¯õ›UP.  

  ¹.

(A) |øh•øÓ •uÀ 60,000
(B) Põ¨¦ ©ØÖ® E£› 40,000
(C) Á[Q ÷©ÀÁøμ¨ £ØÖ 10,000
(D) {ø»a ö\õzx/uÛ²›ø© ÂQu® 0.75
(E) |h¨¦ ÂQu® 2.50
(F) }ºø© ÂQu® 1.50

14. Prepare a statement showing sources and 
application of funds for the year 2018 and a 
schedule of changes in working capital from the 
following balance sheet. 

Liabilities 2017 2018 Assets 2017 2018 

Share 
Capital 

2,00,000 2,50,000 Land 2,00,000 1,90,000 

General 
Reserve 

50,000 60,000 Plant 1,50,000 1,74,000 

Profit and 
Loss a/c 

30,500 30,600 Stock 1,00,000 74,000 

Bank Loan 70,000 – Cash 500 300 

(short 
term) 

  Debtors 80,000 64,500 

Creditors 1,50,000 1,35,200 Bank – 8,000 

Provision 
for 
Taxation 

30,000 35,000    

 5,30,500 5,10,800  5,30,500 5,10,800 
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 Additional Information: 
(a) Depreciation was written off plant Rs. 14,000 

 (b) Dividend of Rs. 20,000 was paid during 2018 
 (c) Income tax provision made during the year 

was Rs. 25,000 

  ¤ßÁ¸® C¸¨¦{ø»U SÔ¨¤¼¸¢x 2018B® 
BsiØPõÚ {v Buõμ[PÒ ©ØÖ® Âsn¨£® 
©ØÖ® ö\¯À£õmk ‰»uÚzvÀ HØ£k® 
©õØÓ[PÎß AmhÁønø¯U Põmk® 
AÔUøPø¯z u¯õ›UPÄ®. 

ö£õÖ¨¦PÒ 2017 2018 ö\õzxUPÒ 2017 2018 

£[S •uÀ 2,00,000 2,50,000 Pmih® 2,00,000 1,90,000 

ö£õx 
JxURk 

50,000 60,000 C¯¢vμ[PÒ 1,50,000 1,74,000 

C»õ£ – 
|mh PnUS 

30,500 30,600 \μUQ¸¨¦ 1,00,000 74,000 

Á[QU 
Phß 

70,000 – öμõUP® 500 300 

(short 
term) 

  PhÚõÎPÒ 80,000 64,500 

PhÜ¢÷uõº 1,50,000 1,35,200 Á[Q – 8,000 

Á›UPõÚ 
JxURk 

30,000 35,000    

 5,30,500 5,10,800  5,30,500 5,10,800 

 SÔ¨¦ 
(A) ö£õÔ°ß «uõÚ ÷u´©õÚ® ¹ 14,000 

 (B) 2018 – À £[Põuõ¯® öPõkzux ¹ 20,000 
 (C) 2018 – À Á¸©õÚ Á›UPõÚ JxURk  

¹ 25,000 BS®. 
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15. From the following information relates to a 

flexible budget at 60% capacity. Find out the 

overhead cost at 50% and 70% capacity and also 

determine the overhead rates. 

 Expenses at 60% 

capacity (Rs.) 

Variable overheads:  

    Indirect material 6,000 

    Indirect labour 18,000 

Semi-variable overheads  

Electricity (40% fixed, 60%          

variable) 

30,000 

Repairs (80% fixed, 20% 

variable) 

3,000 

    Fixed overheads  

    Depreciation 16,500 

    Insurance 4,500 

    Salaries 15,000 

    Total overheads 93,000 

Estimated direct labour hours 1,86,000 
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 ¤ßÁ¸® Â£μ[PÒ ö|QÌÄÖ ÁμÄ ö\»Ä 
vmhzvß 60% öPõÒÍÍÂØS 
öPõkUP¨£mkÒÍx.  AÁØÔøÚ Ai¨£øh¯õPU 
öPõsk 50% ©ØÖ® 70% öPõÒÍÄ vÓÝUS ÁμÄ 
ö\»Äz vmh® u¯õ›zx ÷©Øö\»Ä ÃuzvøÚ²® 
PnUQkP.  

 60% öPõÒÍÍÄ 
vÓÛß ö\»ÄPÒ 

(¹.) 

©õÖ£k® ö\»ÄPÒ:  

    ©øÓ•P ‰»¨ö£õ¸Ò 6,000 

    ©øÓ•PU T¼ 18,000 

£Sv ©õÖ£k® ö\»ÄPÒ:  

ªß\Uv (40% {ø», 60%          
©õÖ£k®) 

30,000 

£Êx£õº¨¦ (80% {ø», 20% 
©õÖ£k®) 

3,000 

    {ø»a ö\»ÄPÒ:  

    ÷u´©õÚ® 16,500 

    Põ¨¥k 4,500 

    \®£Í® 15,000 

    TkuÀ ö\»ÄPÒ 93,000 

Gvº£õºUP¨£mh ÷|μi 
EøÇ¨¦ (©o ÷|μ®)  

1,86,000 
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16. From the following Trial Balance extracted from 
the books of Vinoth, prepare Trading and Profit 
and Loss Account and Balance Sheet as on 
31.12.2018. 

Debit Balance  Rs. Credit Balances Rs. 

Cash at Bank 2,610 Creditors 4,700

Book debts 11,070 Discount 150

Salaries 4,950 Outstanding salary 400

Carriage inwards 1,450 Returns outward 2,520

Carriage 
outwards 

1,590 Sales 20,410

Bad debts 1,310 Capital 40,000

Office expenses 5,100  

Purchases 7,350  

Return inwards 1,590  

Furniture 12,300  

Stock 14,360  

Depreciation 4,500  

 68,180  68,180

 Adjustments: 

(a) Closing stock Rs. 10,000 

 (b) Credit 5% on debtors for provision for 
doubtful debts. 
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 v¸. Â÷Úõzvß ¦zuPzv¼¸¢x 
¤›zöukUP¨£mh ¤ßÁ¸® C¸¨¦a 
÷\õuøÚ°¼¸¢x 31.12.2018® |õÐøh¯ 
Â¯õ£õμ ©ØÖ® C»õ£ |mh PnUS ©ØÖ® C¸¨¦ 
{ø»USÔ¨¦ u¯õ›UP.  

£ØÖ C¸¨¦  ¹. ÁμÄ C¸¨¦ ¹. 

Á[Q C¸¨¦ 2,610 PhÜ¢÷uõº 4,700

PhÚõÎPÒ 11,070 uÒÐ£i 150

\®£Í® 4,950 öPõk£h ÷Ási¯ 
\®£Í® 

400

EÒyUSU T¼ 1,450 öÁÎzv¸¨£® 2,520

öÁÎyUSU T¼ 1,590 ÂØ£øÚ 20,410

ÁμõUPhß 1,310 •uÀ 40,000

A¾Á»Pa 
ö\»ÄPÒ 

5,100  

öPõÒ•uÀ 7,350  

EÒ v¸¨£® 1,590  

©øÚ©õÛ¯[PÒ 12,300  

\μUQ¸¨¦ 14,360  

÷u´©õÚ® 4,500  

 68,180  68,180

 \›PmkuÀPÒ: 

(A) CÖv \μUQ¸¨¦ ¹. 10,000 

 (B) PhÚõÎPÒ «x 5% I¯UPhß Põ¨¦ 
E¸ÁõUSP. 
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17. The sales turnover and profit during two years 
were as follows: 

 Sales Profit 
 Rs. Rs. 

2014 1,40,000 15,000
2015 1,60,000 20,000

 Calculate: 
(a) P/V Ratio 

 (b) Break-even point 
(c) Sales required to earn a profit of Rs. 40,000 

 (d) Fixed expenses and 
 (e) Profit when sales are Rs. 1,20,000 

 Cμsk BskPÐUPõÚ ÂØ£øÚ ©ØÖ® C»õ£® 
Â£μ[PÒ R÷Ç öPõkUP¨£mkÒÍx.  

 ÂØ£øÚ C»õ£®

 ¹. ¹. 

2014 1,40,000 15,000 
2015 1,60,000 20,000 

 PnUQkP: 
 (A) C»õ£ AÍÄ ÂQu®. 

 (B) \›\©{ø» •ÔÄ¨¦ÒÎ. 

 (C) C»õ£® ¹. 40,000 BP C¸US® ÷£õx 
HØ£k® ÂØ£øÚ 

(D) {ø»a ö\»ÄPÒ 

 (E) ÂØ£øÚ ¹.1,20,000 BP C¸US® ÷£õx 
HØ£k® C»õ£®. 

——––––––––– 



  

 

 

U.G. DEGREE EXAMINATION —  
DECEMBER 2023. 

Business Administration 

First Year 

BUSINESS MATHS AND STATISTICS 

Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 

Answer any THREE questions out of Five questions in 

100 words. 

1. What is diagram? Give two examples. 

 Áøμ£h® GßÓõÀ GßÚ? Cμsk GkzxUPõmkPÒ 

u¸P. 

2. Mention any three applications of derivatives in 

business. 

 ÁoPzvÀ öh›÷ÁiÆPÎß ‰ßÖ 

£¯ß£õmiøÚU SÔ¨¤kP. 

 UG-C-2188 BBA–14X
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3. A sum of money amounts to Rs. 20,800 in 5 years 
and Rs. 22,720 in 7 years. Find the principal and 
the rate of simple interest. 

 £nzvß TkuÀ 5 BskPÎÀ ¹.20,800 BPÄ®, 
7 BskPÎÀ ¹. 22,720 BPÄ® EÒÍx. A\À 
©ØÖ® GÎ¯ Ámi ÂQuzøuU PnUQkP. 

4. What is meant by “Measure of Central Tendency”? 

 ø©¯¨÷£õUS AÍÃk Gß£uß ö£õ¸Ò GßÚ? 

5. What do you mean by “Regression”? 

 Ehß öuõhº¦ ÷£õUS GßÓõÀ GßÚ? 

PART B —  (3 × 7 = 21 marks) 

Answer any THREE questions out of Five questions in 
200 words. 

6. State the various methods of collecting Primary 
Data. 

 •ußø© {ø» ¦ÒÎ ÂÁμzvøÚ ÷\P›US® 
£À÷ÁÖ •øÓPøÍ SÔ¨¤kP. 

7. Find the inverse of 



=

53
22

A . 

 RÌPsh Ao°ß uø»RÌ Ao°øÚU PõsP 





=

53
22

A . 
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8. Compute the interest on Rs. 1,000 for 10 years at 

4% per annum, the interest being paid annually. 

 10 BskPÐUPõÚ ¹. 1,000 UPõÚ Ámiø¯ 

BskUS 4% Ãu® PnUQmk Bsk÷uõÖ® 

ö\¾zu¨£k® Ámiø¯ PnUQkP. 

9. Calculate the Arithmetic Mean for the following. 

Marks 40 50 54 60 68 80

No.of Students 10 18 20 39 15 8 

¤ßÁ¸® Â£μ[PÎ¼¸¢x Tmka \μõ\›ø¯ 

PnUQkP. 

©v¨ö£sPÒ 40 50 54 60 68 80

©õnÁºPÒ GsoUøP 10 18 20 39 15 8 

10. Calculate the Laspeyre’s Index : 

Types Price Quantity 

 2010 2014 2010 2014 

X 9 15 5 5 

Y 4 12 10 11 

Z 1 5 6 6 
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 »õì¤¯ºì& Cß SÔ±mk GsønU PnUQkP. 

ÁøP Âø» AÍÄ 

 2010 2014 2010 2014 

X 9 15 5 5 

Y 4 12 10 11 

Z 1 5 6 6 

PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions out of Seven questions in 
500 words. 

11. Write about types of one dimension diagrams. 

 JØøÓ £›©õÚ Áøμ£hzvß ÁøPPÒ £ØÔ GÊxP. 

12. Multiple 





 −

=
43
12

A , 





 −

=
75
93

B  

 ö£¸USP 





 −

=
43
12

A , 





 −

=
75
93

B . 

13. Find the value of x for the maximum and 
minimum values of xxxx 24228 234 −+− . 

 xxxx 24228 234 −+−  &ß AvP£m\ ©ØÓ® 
SøÓ¢u£m\ ©v¨¦PÐUS x ß ©v¨¦PøÍ 
PshÔP. 
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14. Compute the Standard Deviation from the 

following information. 

S.No. 1 3 5 7 9 11 13 15 17 19

Marks 19 52 70 39 24 21 14 12 8 1 

¤ßÁ¸® Â£μ[PÎ¼¸¢x vmh Â»UPzvøÚU 

PnUQkP. 

Á.Gs 1 3 5 7 9 11 13 15 17 19

©v¨ö£sPÒ 19 52 70 39 24 21 14 12 8 1 

15. Find the line of regression of Y on X. 

X 1 2 3 4 5 8 10

Y 9 8 10 12 14 16 15

 Y Cß ÷©À X Ehß öuõhº¦ ÷PõmiøÚ PshÔP. 

X 1 2 3 4 5 8 10

Y 9 8 10 12 14 16 15

16. Explain the functions of Statistics in detail. 

 ¦ÒÎ°¯¼ß £oPøÍ Â›ÁõP ÂÁ›UP. 
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17. Compute the co-efficient of correlation between  
X and Y. 

X 10 12 38 8 13 20 22

Y 88 90 94 86 87 92 96

 X ©ØÖ® Y Cøh°»õÚ JmkÓÄU öPÊÂøÚ 
PnUQkP. 

X 10 12 38 8 13 20 22

Y 88 90 94 86 87 92 96

 

——––––––––– 


